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QUESTION 1

Which protocol is used for an immersive telepresence meeting?
A. Assent

B. TIP

C. H.323

D. H.239

Correct Answer: B

QUESTION 2

During a call request, which occurs prior to the Expressway searching for the destination endpoint in the registration
list?

A. Bandwidth Restriction
B. Hurt List

C. Transforms

D. Hurt Group

Correct Answer: D

QUESTION 3

Which system uses intelligent Audio to cancel out background noise?
A. Spark

B. Jabber

C. DX80

D. DX70

Correct Answer: C
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QUESTION 4

In an H.323 call to that is not interworked, which signaling protocols are routed through the Expressway?
A. RAS, RTP and H.254

B. RAS, RTP and RTCP

C. RTP, RTCP and H.254

D. RAS, Q.932 and H.245

Correct Answer: D

QUESTION 5

What do Enterprise Settings on Cisco Spark determine?
A. Where user information comes from.

B. BOT integration

C. APl integration

D. How Connectors are integrated in a hybrid deployment.

Correct Answer: A
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